

Original Article

On the invalidity of semigroup property for the Mittag–Leffler function with two parameters



X

S.K. Elagan*

^a Department of Mathematics, Faculty of Science, Menofiya University, Shebin Elkom 32511, Egypt ^b Department of Mathematics and Statistics, Faculty of Science, Taif University, Taif, El-Haweiah, P.O. Box 888, 21974, Saudi Arabia

Received 9 February 2015; revised 14 April 2015; accepted 17 May 2015 Available online 15 June 2015

Keywords	Abstract It is shown that the following property
Mittag–Leffler function; Caputo fractional derivative; Semigroup property	$E_{\alpha,\beta}(a(s+t)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(at^{\alpha\beta}), s, t \ge 0, a \in \mathbb{R}, \alpha, \beta > 0 $ ⁽¹⁾
	is true only when $\alpha = \beta = 1$, and $a = 0$, $\beta = 1$ or $\beta = 2$. Moreover, a new equality on $E_{\alpha,\beta}(at^{\alpha\beta})$ is developed, whose limit state as $\alpha \uparrow 1$ and $\beta > \alpha$ is just the above property (1) and if $\beta = 1$, then the result is the same as in [16]. Also, it is proved that this equality is the characteristic of the function $t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})$. Finally, we showed that all results in [16] are special cases of our results when $\beta = 1$.
	Mathematics Subject Classification: 34A12
	Copyright 2015, Egyptian Mathematical Society. Production and hosting by Elsevier B.V. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/).

Egyptian Mathematical Society

Journal of the Egyptian Mathematical Society

www.etms-eg.org www.elsevier.com/locate/joems

1. Introduction

As a result of researchers' and scientists' increasing interest in pure as well as applied mathematics in non-conventional models, particularly those using fractional calculus, Mittag-

E-mail address: sayed_khalil2000@yahoo.com

Peer review under responsibility of Egyptian Mathematical Society.



Leffler functions have recently caught the interest of the scientific community. Focusing on the theory of the Mittag– Leffler functions, the present volume offers a self-contained, comprehensive treatment, ranging from rather elementary matters to the latest research results. In addition to the theory the authors devote some sections of the work to the applications, treating various situations and processes in viscoelasticity, physics, hydrodynamics, diffusion and wave phenomena, as well as stochastics. In particular the Mittag–Leffler functions allow us to describe phenomena in processes that progress or decay too slowly to be represented by classical functions like the exponential function and its successors. The two parameter Mittag–Leffler function is such a two-parameter function defined in the complex plane \mathbb{C} by $E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k+\beta)}$, where $\alpha > 0$ is the parameter and Γ the Gamma function [1].

S1110-256X(15)00033-4 Copyright 2015, Egyptian Mathematical Society. Production and hosting by Elsevier B.V. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/). http://dx.doi.org/10.1016/j.joems.2015.05.003

^{*} Address: Department of Mathematics and Statistics, Faculty of Science, Taif University, Taif, El-Haweiah, P.O. Box 888, 21974, Saudi Arabia.

It was originally introduced by Mittag–Leffler in 1902 [2]. Obviously, the exponential function e^z is a particular Mittag–Leffler function with the specified parameter $\alpha = \beta = 1$, or in other words, the Mittag–Leffler function is the parameterized exponential function. In recent years the Mittag–Leffler function has caused extensive interest among scientists, engineers and applied mathematicians, due to its role played in investigations of fractional differential equations (see, for example, [3–8]). A large of its properties have been proved (see, e.g., [9–15]). In this paper we show that the following property

$$E_{\alpha,\beta}(a(s+t)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(at^{\alpha\beta}), s, t \ge 0,$$

$$a \in \mathbb{R} \quad \text{and} \quad \alpha, \beta > 0$$

is true only when $\alpha = \beta = 1$, and a = 0, $\beta = 1$ or $\beta = 2$. Moreover, a new equality on $E_{\alpha,\beta}(at^{\alpha\beta})$ is developed, whose limit state as $\alpha \uparrow 1$ and $\beta > \alpha$ is just the above property (1), if $\beta = 1$, then the equality is the same as in [16]. Finally, it is proved that this equality is the characteristic of the function $t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})$. To this purpose, the following properties of Mittag–Leffler function and Caputo's fractional derivative are needed:

(P1) (cf. [17, formula (2.140)]) The Laplace transform of Caputo's derivative is given by

$$\widehat{D_t^{\alpha} f(t)}(\lambda) = \lambda^{\alpha} \widehat{f}(t) - \sum_{k=0}^{n-1} \lambda^{\alpha-k-1} f^{(k)}(0), \quad \text{where} \quad n-1$$

< $\alpha \le n,$

 $\widehat{D_t^{\alpha} f(t)}(\lambda)$ and $\lambda^{\alpha} \hat{f}(t)$ denote the laplace transform of $D_t^{\alpha} f(t)$ and f(t), respectively.

(P2) (cf. [12, p.287]) The Laplace transform of the Mittag– Leffler functions can be derived from the formula

$$\int_0^\infty e^{-\lambda t} t^{\beta-1} E_{\alpha,\beta}(at^\alpha) dt = \frac{\lambda^{\alpha-\beta}}{\lambda^\alpha - a}, Re\lambda > a^{\frac{1}{\alpha}}, a > 0,$$

where $Re\lambda$ represents the real part of the complex number λ .

2. A new equality characteristic of solution function

In this section, firstly we show the following general property

$$E_{\alpha,\beta}(a(s+t)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(at^{\alpha\beta}), s, t \ge 0, a$$

 $\in \mathbb{R} \text{ and } \alpha, \beta > 0$ (1)

is false, to show that, it is sufficient to provide one counterexample. By using the fact $E_2(z^2) = (\frac{e^z + e^{-z}}{2}) = \cosh z$, valid for all z, then elementary calculation shows that (1) doesnot hold for the choice $\alpha = 2$, $\beta = 1$, a = s = t = 1 of parameters. This is because the difference of left hand side and right hand side of (1) comes out as $(\sinh 1)^2$. Hence (1) as a general property is false. Secondly we prove (1) is true only when $\alpha = \beta = 1$, and a = 0, $\beta = 1$ or $\beta = 2$, to do that, let

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)}.$$

We want to find all $\alpha, \beta > 0, a \in \mathbb{R}$ for which

$$E_{\alpha,\beta}(a(s+t)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(at^{\alpha\beta}), s, t \ge 0.$$

If we set s = t = 0 we can write

$$E_{\alpha,\beta}(0) = E_{\alpha,\beta}(0)E_{\alpha,\beta}(0).$$

Knowing that $E_{\alpha,\beta}(0) = \frac{1}{\Gamma(\beta)}$, yields $\Gamma(\beta) = 1$ which implies $\beta = 1$ or $\beta = 2$. So if a = 0 then (1) is true with $\beta = 1$ or $\beta = 2$ and this is the only condition, consequently we can say that for any $a \in \mathbb{R}$ and $\alpha, \beta > 0$, the equality (1) may be true only when $\Gamma(\beta) = 1$. Therefore, let us assume that $a \neq 0$ and $\Gamma(\beta) = 1$. From (1), if we let s = t then (1) becomes

$$E_{\alpha,\beta}(a(2s)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(as^{\alpha\beta}) = \left(E_{\alpha,\beta}(as^{\alpha\beta})\right)^2.$$

Set $z = s^{\alpha\beta}$, then the above equation becomes

$$E_{\alpha,\beta}(az2^{\alpha\beta}) = (E_{\alpha,\beta}(az))^2 \quad \text{for all} \quad z \ge 0.$$
⁽²⁾

We differentiate (2) and set z = 0. This gives

$$\frac{a2^{\alpha\beta}}{\Gamma(\alpha+\beta)} = \frac{2a}{\Gamma(\beta)\Gamma(\alpha+\beta)}.$$

This implies $2^{\alpha\beta} = 2$. Therefore, $\alpha\beta = 1$. If $\beta = 1$ then $\alpha = 1$ and $E_{\alpha,\beta}(z) = e^z$, so (1) is true. Now assume that $\beta = 2$. Then $\alpha = \frac{1}{2}$. If we differentiate (2) twice with respect to z and set z = 0 we obtain

$$\frac{8a^2}{\Gamma(2\alpha+\beta)} = \frac{2a^2}{\Gamma(\alpha+\beta)^2} + \frac{4a^2}{\Gamma(\beta)\Gamma(2\alpha+\beta)}$$

which gives (with $\beta = 2$ and $\alpha = \frac{1}{2}$)

$$4 = \frac{32}{9\pi} + 2,$$

which is not true. Therefore, (1) is true only when $\alpha = \beta = 1$, and a = 0, $\beta = 1$ or $\beta = 2$.

By definition of Caputo derivative it is clear that the Caputo's fractional derivative operator is nonlocal in the case of non-integer order α . The memory character of Caputo's derivative operator is perhaps the cause leading to the result that $E_{\alpha,\beta}(at^{\alpha\beta})$, as an eigenfunction of Caputo's derivative operator does not possess semigroup property that is non-memory. This seems to tell us that any equality relationship involving $E_{\alpha,\beta}(at^{\alpha\beta}), E_{\alpha,\beta}(as^{\alpha\beta})$ and $E_{\alpha,\beta}(a(s+t)^{\alpha\beta})$ should be of memory and hence be characterized with integrals. The equality relationship stated in the following theorem which is a generalization to Theorem 1 in [16] is a result of the above idea.

Theorem 2.1. For every real a there holds that

$$\int_{0}^{t} (t-\tau)^{\beta-\alpha-1} f(s+\tau) d\tau = \int_{0}^{t} (s+t-\tau)^{\beta-\alpha-1} f(\tau) d\tau + \frac{\alpha \Gamma(\beta-\alpha)}{\Gamma(1-\alpha)} \int_{0}^{s} \int_{0}^{t} f(\tau_{1}) f(\tau_{2}) (t+s-\tau_{1}-\tau_{2})^{-\alpha-1} d\tau_{2} d\tau_{1},$$
(3)

where $t, s \ge 0$ and $f(t) = t^{\beta-1} E_{\alpha,\beta}(at^{\alpha})$.

Proof. Let $0 < \alpha < 1, \beta > 1, a > 0$. Define

$$f(t) = t^{\beta-1} E_{\alpha,\beta}(at^{\alpha}) = \sum_{k=0}^{\infty} \frac{a^k t^{k\alpha+\beta-1}}{\Gamma(k\alpha+\beta)}. \square$$

Then its Caputo derivative satisfies

$$D_t^{\alpha} f(t) = a f(t) + \frac{t^{\beta - \alpha - 1}}{\Gamma(\beta - \alpha)}.$$

Now

$$D_t^{\alpha} f(s+t) = a f(s+t) + \frac{(s+t)^{\beta-\alpha-1}}{\Gamma(\beta-\alpha)} - \frac{1}{\Gamma(1-\alpha)}$$
$$\times \int_0^s (s+t-\tau)^{-\alpha} \frac{df(\tau)}{d\tau} d\tau.$$

By integration by parts,

$$D_t^{\alpha} f(s+t) = a f(s+t) + \frac{(s+t)^{\beta-\alpha-1}}{\Gamma(\beta-\alpha)} - \frac{t^{-\alpha} f(s)}{\Gamma(1-\alpha)} + \frac{\alpha}{\Gamma(1-\alpha)}$$
$$\times \int_0^s (s+t-\tau)^{-\alpha-1} f(\tau) d\tau.$$

Applying the Laplace transform with respect to t, we get

$$\begin{split} \lambda^{\alpha} \hat{f}_{s}(\lambda) - \lambda^{\alpha-1} f(s) &= a \hat{f}_{s}(\lambda) + \frac{\left\{ (s+t)^{\beta-\alpha-1} \right\}^{\wedge}}{\Gamma(\beta-\alpha)} - \lambda^{\alpha-1} f(s) \\ &+ \frac{\alpha}{\Gamma(1-\alpha)} \int_{0}^{s} \left\{ (s+t-\tau)^{-\alpha-1} \right\}^{\wedge} f(\tau) d\tau. \end{split}$$

This simplifies to

$$\begin{aligned} (\lambda^{\alpha} - a)\hat{f}_{s}(\lambda) &= \frac{\left\{(s+t)^{\beta-\alpha-1}\right\}^{\wedge}}{\Gamma(\beta-\alpha)} + \frac{\alpha}{\Gamma(1-\alpha)} \\ &\times \int_{0}^{s} \left\{(s+t-\tau)^{-\alpha-1}\right\}^{\wedge} f(\tau) d\tau. \end{aligned}$$

We rewrite this as

$$\begin{split} \Gamma(\beta-\alpha)\lambda^{\alpha-\beta}\hat{f}_{s}(\lambda) &= \left\{ (s+t)^{\beta-\alpha-1} \right\}^{\wedge} \frac{\lambda^{\alpha-\beta}}{\lambda^{\alpha}-a} + \frac{\alpha\Gamma(\beta-\alpha)}{\Gamma(1-\alpha)} \int_{0}^{s} \\ &\times \frac{\lambda^{\alpha-\beta}}{\lambda^{\alpha}-a} \left\{ (s+t-\tau)^{-\alpha-1} \right\}^{\wedge} f(\tau) d\tau. \end{split}$$

Now we use that

$$\hat{f}_s(\lambda) = \frac{\lambda^{\alpha-\beta}}{\lambda^{\alpha}-a}.$$

Therefore, by applying inverse Laplace transform,

$$\begin{split} \int_0^t (t-\tau)^{\beta-\alpha-1} f(s+\tau) d\tau &= \int_0^t (s+t-\tau)^{\beta-\alpha-1} f(\tau) d\tau + \frac{\alpha \Gamma(\beta-\alpha)}{\Gamma(1-\alpha)} \\ &\times \int_0^s \int_0^t f(\tau_1) f(\tau_2) (t+s-\tau_1-\tau_2)^{-\alpha-1} d\tau_2 d\tau_1. \end{split}$$

By analytic continuation one can see that this formula remains true when $0 < \alpha < 1$ and $\beta > \alpha$. If $\beta = 1$, the result is the same as in [16].

We now obtain our main result.

Theorem 2.2. Let $f:[0,\infty) \to \mathbb{R}$ be a continuous function which satisfies

 $|f(t)| \le Ce^{wt}$ for $t \ge 0, w \in \mathbb{R}$ and equality (3), then f must be equal $t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})$.

Proof. We use the two-dimensional Laplace transform for the function f(s, t) of two variables $s, t \ge 0$ defined by

$$\hat{f}(\lambda,\mu) = \int_0^\infty \int_0^\infty e^{-\lambda s - \mu t} f(s,t) ds dt. \square$$
If

 $|f(s,t)| \le Ce^{w_1 s + w_2 t}$ for $s, t \ge 0$,

then \hat{f} is defined for $\lambda > w_1, \mu > w_2$. We will use the following rules:

(1) The Laplace transform of f(s, t) = g(s + t) is

$$\hat{f}(\lambda,\mu) = -\frac{\hat{g}(\mu) - \hat{g}(\lambda)}{\mu - \lambda},$$

where \hat{g} is the one-dimensional Laplace transform of g. If $\lambda = \mu$ the right hand side has to be replaced by $-\frac{d}{d\lambda}\hat{g}(\lambda)$. (2) If

$$h(s,t) = \int_0^s \int_0^t f(\tau_1,\tau_2)g(s-\tau_1,t-\tau_2)d\tau_1\,d\tau_2,$$

then

$$\hat{h}(\lambda,\mu) = \hat{f}(\lambda,\mu)\hat{g}(\lambda,\mu).$$

(3) If

$$h(s,t) = \int_0^t f(s,t-\tau)g(\tau)d\tau,$$

then

$$\hat{h}(\lambda,\mu) = \hat{f}(\lambda,\mu)\hat{g}(\mu).$$

Now let $f : [0, \infty) \to \mathbb{R}$ be a continuous function which satisfies an estimate of the form

$$|f(t)| \le Ce^{wt} \quad \text{for} \quad t \ge 0, w \in \mathbb{R}.$$
(4)

Then the Laplace transform $\hat{f}(\lambda)$ is defined for $\lambda > w$. Let $\alpha \in (0, 1)$ and $\beta > \alpha$. Suppose that the following equation holds

$$f_1(s,t) - f_2(s,t) - f_3(s,t) = f_4(s,t) \quad \text{for} \quad s,t \ge 0,$$
(5)

where

$$f_{1}(s,t) = \frac{1}{\Gamma(\beta-\alpha)} \int_{0}^{s+t} (s+t-\tau)^{\beta-\alpha-1} f(\tau) d\tau$$

$$f_{2}(s,t) = \frac{1}{\Gamma(\beta-\alpha)} \int_{0}^{t} (s+t-\tau)^{\beta-\alpha-1} f(\tau) d\tau,$$

$$f_{3}(s,t) = \frac{1}{\Gamma(\beta-\alpha)} \int_{0}^{s} (s+t-\tau)^{\beta-\alpha-1} f(\tau) d\tau,$$

$$f_{4}(s,t) = \frac{\alpha}{\Gamma(1-\alpha)} \int_{0}^{s} \int_{0}^{t} f(\tau_{1}) f(\tau_{2}) (t+s-\tau_{1}-\tau_{2})^{-\alpha-1} d\tau_{2} d\tau_{1}.$$
By rule (1)

By rule (1),

$$\hat{f}_1(\lambda,\mu) = rac{\lambda^{lpha-eta}\hat{f}(\lambda) - \mu^{lpha-eta}\hat{f}(\mu)}{\mu-\lambda}$$

By rules (1) and (3),

$$\hat{f}_{2}(\lambda,\mu) = \frac{\lambda^{\alpha-\beta} - \mu^{\alpha-\beta}}{\mu-\lambda} \hat{f}(\mu),$$
$$\hat{f}_{3}(\lambda,\mu) = -\frac{\mu^{\alpha-\beta} - \lambda^{\alpha-\beta}}{\lambda-\mu} \hat{f}(\lambda).$$

By rules (1) and (2),

$$\hat{f}_4(\lambda,\mu) = -\frac{\lambda^{lpha} - \mu^{lpha}}{\mu - \lambda} \hat{f}(\lambda) \hat{f}(\mu).$$

It follows from (5) that

$$\hat{f}_1(\lambda,\mu) - \hat{f}_2(\lambda,\mu) - \hat{f}_3(\lambda,\mu) = \hat{f}_4(\lambda,\mu) \text{ for } \lambda,\mu > w.$$

If we substitute our formula for \hat{f}_j , j = 1, 2, 3, 4, in (5), we obtain after simplification

$$\mu^{\alpha-\beta}\hat{f}(\lambda) - \lambda^{\alpha-\beta}\hat{f}(\mu) = (\mu^{\alpha} - \lambda^{\alpha})\hat{f}(\lambda)\hat{f}(\mu).$$
(6)

If f(t) = 0 for all $t \ge 0$ then (5) holds. Otherwise, there is $\mu > w$ such that $\hat{f}(\mu) \ne 0$. Then (6) yields by solving for $\hat{f}(\lambda)$

$$\hat{f}(\lambda) = \frac{\lambda^{\alpha-\beta}}{\lambda^{\alpha}-a},$$

where

$$a = \mu^{\alpha} - \frac{\mu^{\alpha - \beta}}{\hat{f}(\mu)}.$$

We know that the Laplace transform of the function

$$h(t) = t^{\beta - 1} E_{\alpha, \beta}(at^{\alpha})$$

is

$$\hat{h}(\lambda) = \frac{\lambda^{\alpha-\beta}}{\lambda^{\alpha}-a}.$$

Therefore, it follows that f = h. This shows that a part from the trivial solution f(t) = 0 the only solution of (5) is f(t) = h(t).

Remark 2.1. Theorem 2.2, shows that every characteristic function f satisfies an estimate of the form $|f(t)| \le Ce^{wt}$ for $t \ge 0, w \in \mathbb{R}$ and also satisfies equality (3) must be equal $t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})$.

3. Conclusion

Recently the authors have found in some publications that the following property.

$$E_{\alpha,\beta}(a(s+t)^{\alpha\beta}) = E_{\alpha,\beta}(as^{\alpha\beta})E_{\alpha,\beta}(at^{\alpha\beta}), s, t$$

> 0, $a \in \mathbb{R}, \alpha, \beta > 0(1).$

Of Mittag–Leffler function with two parameters is taken for granted and used to derive other properties.

Also in this note it is proved that the above property is unavailable unless $\alpha = \beta = 1$, and a = 0, $\beta = 1$ or $\beta = 2$. Moreover, a new equality on $E_{\alpha,\beta}(at^{\alpha\beta})$ is developed, whose limit state as $\alpha \uparrow 1$ and $\beta > \alpha$ is just the above property (1). Also it is shown that if $\beta = 1$, then the equality is the same as in [16]. Finally, it is proved that this equality is the characteristic of the function $t^{\beta-1}E_{\alpha,\beta}(at^{\alpha})$.

References

- I. Podlubny, Fractional Differential Equations, Academic Press, New York, 1999.
- [2] G.M. Mittag-Leffler, Sur l'intégrale de Laplace-Abel, CR Acad. Sci. Paris (Ser. II) 136 (1902) 937–939.
- [3] G. Jumarie, Laplace's transform of fractional order via the Mittag–Leffler function and modified Riemann–Liouville derivative, Appl. Math. Lett. 22 (11) (2009) 1659–1664.
- [4] D. Matignon, Stability results for fractional differential equations with applications to control processing, in: IMACS-SMC Proceedings, Lille, France, July 1996, pp. 963–968.
- [5] M. Moze, J. Sabatier, A. Oustaloup, LMI characterization of fractional systems stability, in: J. Sabatier, O.P. Agrawal, J.A. Tenreiro Machado (Eds.), Advances in Fractional Calculus, Springer, Berlin, Dordrecht, The Netherlands, 2007, pp. 419–434.
- [6] Z.M. Odibat, Analytic study on linear systems of fractional differential equations, Comput. Math. Appl. 59 (2010) 1171–1183.
- [7] B. Bonilla, M. Rivero, J.J. Trujillo, On systems of linear fractional differential equations with constant coefficients, Appl. Math. Comput. 187 (1) (2007) 68–78.
- [8] R. Figueiredo, E. Capelas, O. Jayme, On the generalized Mittag–Leffler function and its application in a fractional telegraph equation, Math. Phys. Anal. Geom. (2012) 1–16.
- [9] Y. Li, Y.Q. Chen, I. Podlubny, Mittag–Leffler stability of fractional order nonlinear dynamic systems, Automatica 45 (2009) 1965–1969.
- [10] G. Jumarie, Probability calculus of fractional order and fractional Taylor's series application to Fokker–Planck equation and information of non-random functions, Chaos Solit. Fract. 40 (2009) 1428–1448.
- [11] W. Rudin, Principles of Mathematical Analysis, third ed., Mc-Graw-Hill, New York, 2004.
- [12] L. Galeone, R. Garrappa, Explicit methods for fractional differential equations and their stability properties, J. Comput. Appl. Math. 228 (2009) 548–560.
- [13] K. Gepreel, M. Mohamed, An optimal homotopy analysis method nonlinear fractional differential equation, J. Adv. Res. Dynam. Cont. Syst 6 (2014) 1–10.
- [14] He. Ji-Huan, S.K. Elagan, Z.B. Li, Geometrical explanation of the fractional complex transform and derivative chain rule for fractional calculus, Phys. Lett. A 376 (2012) 257–259.
- [15] K. Sharma, R. Jain, V. Dhakar, A solution of generalized fractional volterra type integral equation involving K4-function, Gen. Math. Notes 8 (2012) 15–22.
- [16] J. Peng, K. Li, A note on property of the Mittag–Leffler function, J. Math. Anal. Appl. 370 (2010) 635–638.
- [17] F. Mainardi, R. Gorenflo, On Mittag–Leffler functions in fractional evolution processes, J. Comput. Appl. Math. 118 (2000) 283–299.